NANME:
UNIT 7 » WORIGNG WITH DATA
Uay 61

bay 61 Guided |
Dutliers at Lunch

The table.below lists what's on the meny for lunch in a schocl cafeteria, along with the catories for each
itern. Follow along with your teacher to fill out the five-number summary for the data, Then, celculate any
outliers for the data. )

tunchtime Catories

Menu ftem R e ’Caianes

Veggle sub wfm all, vinegar, Italian spices and cheese 2h

Whote-grain ham sub with veggies 310
| Pasta with marinara sauce 290 |
Vegetarian salad, light dressing 42

Whole-grain turkey sub with veggies 290 !
Cheeseburger 515 !
Salad with chicken, chesse and light dressing 237 !

1. Listthe numbers from the table In order fromdeast o greatest:

42 23%F 269 (290) 290 3lo SIS

2. Filoutthe f%ve*numbe{ summary for the data,

| Minimum (min)
Lower guartile (Q)
Meadlan M or Q)
Upper guartite (Q)

Maximum s

3, Determine the interquartile range.
th-0-0- 210 - 23F - 33
4. Muttiply the interquartite range Dytebr=
GRe15= §g§ e15=

Y
L ———

&t
ot

IR RULE

Any number(s) from the five-number summary that Is jgss han this answer 's an gutliar,

Cutlier: %_
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8. Add the answey from problem 4 o the upper quartile.
09.5¥

Q= 104.5 <
Any numberis) from the five-number summary that is grgater than this answer is

Outiler: _

7. Wht are your outliers, If any?

1 (eagtavian Se

Sis ( mfg«;w%@w}
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Find the Outliers

For each problem, the datz sat to fill out the five-number summary. Then, calculate any outliers, Use 2
calculator. Show your work. Use the Day 67 Guided Practice; Outilers at Lunch worksheet to help you If needed.

1. Data set:

58, 55, 67, 123
N 94/ e &

@

Minimum (min)
Lower quartile (@}
Median (M or Q)
Upper quartile (0
Maximum |

& : . B B

b, \What's the interquartite Jﬂg"e? I
ICR=0 - Q= > — g%% = Eﬁ?&

c. ‘Muiﬁply the Interquartile range by 1.5.
OR®15=_dode s15=_3 |

d. Subtract this answer g the iower guartiie,

e, Add the answer from parl ¢ to the upper guartiie.

Q + :‘%

f. What are your outiers, if any? E@%

2, Data sel:
/115117, 119,120

Mirimum {min) (2™
Lower quartile (Q)
Median (M or Q)
Upper quartile (0}
Maximum
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h. What's the interquartile range?
oR=0-0=449%5 - |

¢. Multiply the interguartile range by 1.5,
0Re15= 45 e15-2L.5

d. Subtract this answer from the lower quartile

0~ 20.5,- %"?%

A

f, What are your outfiers, if any? 8

3. Data sel:

1{3, 191 Zdliésmal 33' A

) & z

a. Fili out the five-number sumary:

Minimum {min) (s
Lower guartile {Q) :
Median (M or Q)
Unper quartile (Q))
Maximum W%@%
h. What's the interguartiie range?

R = Q,- Q.= - 2»% =
c. Multiply the interguartile range by 1.5, -

Re15=_ Mo e15-_ 2%

d. %htracﬁ this answer from the lower guariiie.

. - 1

1 ey - . -

. Add the answer from problem 4 1o the upper guartiie,

v

- W

f, What are your outliers, if any?
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Day 62 Guided
Grades

Beiow are 9 test grades from Jack’s language arts class, Foilow along with your L@ﬁCh@f *o fill out the five-
nurmber summary for the data, Then, calculate any outtiers for the data.

Jack’s testi grades

75, 40,91, 96, 50, 68, 81, 83,85,

Minimum (min) |
Lower quartile (@}
Median (M or Q)
Upper quattile (Q)
i Maximum

3. Determine the interquartiie range.

R=0-0=“% _FS.

4. Multipty the 1n:terquar‘fiie range by 1.5.

Any number{s) from the five-number summary that is less than this answer is an outlier.

warth Carofing intracuction to High School Math, Yersian 2.0 € 2010 Walch Tducation
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5. Add the answer from problem 4 {o the upper guartfie.
.38 = 12235

Any number(s) from the five-number summaty that is greater than this answer is an outiier.

gpmawse

Juilier:

7. What are your outliers, If any?

[Py

8. What Is the mean of the data set? K

g What is the mean of the data set without the outlier?

8. What do you notice about the means [n problems 8 and g7 @ ﬁ% HigHee Tped

10, What is the median of the data sat?

11,

12.

13
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8-2a Measures of Variation
Low{15}
1.} What is the range of the data given below? =3 g}
25 42,23, 12, 30, 18 23

i & %‘%gﬁ’ minus the %@%’&E@y@éﬁ
minus the ___ ¢y 1 1Y

, whereas,

Medium{70}

2.} Given the ordered data set, identify the lower quartile, median, and upper quartile. Then give the
overall range and the interquartile range of the data set. SHOW YOUR WORKI!!!

median: é

Range:@@

interguartite range:

3.} tdentify any outliers in the data given for problem 2. SHOW YOUR WORK regardlgss of whether

an outlier does or does not exigt. % dﬁ%ﬁi‘%@";% .G
=-3q¢ AprlFsS =

oAbt s
,‘wwwp
A

High(ls, (Mo gu TuBes |

Bubba found the lower guartile, median, and upper guartile of a data set. He then went on to find
the outlier. Did he make any mistakes? if s, what was the mistake? What would be correct?

‘\
2{%,5{331 2,16:£5>45
=7 1.) The outlier can be found from the range 18 -5 =13
A Iy
f ‘ \ 2.} Subtract 13 from 5 and add it to 18
Lower L Unber 3.} Based onstep 2, the minimum limitis -8 and the
quartile = 5 qi}grtiie - 18 maximum Hmit is 31, therefore the cutlier is 45

i
]
Median = 11



Lensoy 3.

Fermade Bewrs
£l = 45 N v:

LI T
LS 53]
& . A e
L3 BB AW o E NSk E & .
I {. i 1 1 X ] i

2 ) Regpoduced below iz the dot plot of lengths of female bears Tom

{

L
[ l} i ¥ T f i ¥ ] 1

f

&, Tio there appear 1o be any outhiers in the datal

— I Langth
W g mched

b The fve-number semmary for the lengthe of female bears i

mimimam = 36, O = 5345, median = 59, Oz = 61.5

i; Use the steps above to idemify any outliers on the high end.

. five there ary ouliers on the bow el

. ?*iw box plot below [ohien mf&;a’%@ g6 a mediited box plet)

shiows how the oml
bears may be indicgted

in the disribution of the engthe of female
v 3 dot. The whiskers end 2t the last length

it o not an owlier What leopihs of female bears are outliers?

' j T . i f 1 T
W OIF A 4% S OB & 65
Laeisths of Female Bomrs [ nchues)

Fnd the range amﬁ m@f{;ﬁgm o z&ﬂgﬁw of the follov raing =et of %f;@i:u@f '

i, %, 3, 4, i%s éfiu it

=, Hemove e m
?E'?Ei‘i‘* P set of v

b In g%ﬂﬂmi is the range or Bmerguartile rangs more 18
mﬁa 'ﬁ"ﬁ;?f*’f iy -t??%g“g* Wf}?"ﬁ;?g, w‘héfﬁi HIEaRETe -ac*f &g}fﬁ%{% i

e, Why is the nferquartile range more

wher of 70, Find the range and intermquartile range of
a5, Which changed more, the range ov e

rimtagst T

informative than the range as
a maeasure of variability for many sets of datat




